

# Altered heart rate variability and ventricular repolarization in children with mitral valve prolapse

Utku Pamuk, Ibrahim İlker Çetin

Department of Pediatric Cardiology, Ankara Yıldırım Beyazıt University, Ankara, Türkiye

Corresponding Author: **Utku Pamuk**

e-mail: [utkupamuk@yahoo.com](mailto:utkupamuk@yahoo.com)

Received : 09.05.2026, Accepted : 25.08.2026

DOI: 10.12956/TJPD.2026.1365

## ABSTRACT

**Objective:** The aim of this study was to evaluate heart rate variability (HRV) parameters and ventricular repolarization abnormalities in children with mitral valve prolapse (MVP) compared with healthy controls.

**Materials and Methods:** This retrospective single-center study included 78 children with MVP and 92 healthy controls with similar age and gender distributions. Demographic characteristics, 24-hour Holter-derived HRV parameters, and electrocardiographic measurements were analyzed. HRV indices included SDNN, SDANN, SDANNi, rMSSD, pNN50, total power, VLF, LF, HF, LF/HF ratio, and triangular index. Multiple comparisons were adjusted using the Benjamini–Hochberg false discovery rate (FDR) method. Multivariable linear regression analyses adjusted for age and sex were performed for selected representative variables.

**Results:** Children with MVP demonstrated significantly lower SDANNi, rMSSD, total power, LF, HF, and triangular index values compared with controls after FDR correction. Maximum QTc values were significantly higher in the MVP group. In multivariable regression analysis, MVP remained independently associated with lower HF and rMSSD values and higher maximum QTc values after adjustment for age and gender. No significant differences were observed for LF/HF ratio, SDNN, SDANN, or pNN50 after FDR correction.

**Conclusion:** Children with MVP exhibit reduced parasympathetic modulation together with prolonged ventricular repolarization independently of age and gender. These findings suggest that pediatric MVP may be associated with autonomic and electrophysiological alterations.

**Keywords:** Autonomic nervous system, child, electrocardiography, heart rate variability, mitral valve prolapse

## Introduction

Mitral valve prolapse (MVP) is characterized by the displacement of one or both mitral valve leaflets above the atrioventricular junction during ventricular systole (1). It is often asymptomatic but may present with a wide spectrum of symptoms, including atypical chest pain, palpitations, dyspnea, presyncope, reduced exercise tolerance, migraine-like headaches, anxiety, and depression (2).

Overall, MVP is generally associated with a favorable prognosis; however, complications such as ventricular arrhythmias and sudden cardiac death have been reported in a subset of patients (3,4).

Several studies have investigated autonomic function in patients with MVP using heart rate variability (HRV) analysis, yielding inconsistent results. While some reports have demonstrated reduced parasympathetic activity and impaired autonomic regulation, others have reported no

significant differences, and the underlying mechanisms remain incompletely understood (5,6).

Given the potential link between autonomic dysfunction and arrhythmic risk in MVP, further evaluation of HRV parameters may provide valuable insights into the pathophysiology of this condition. Therefore, in this study, we aimed to assess HRV parameters in patients with MVP and compare them with those of healthy controls in order to better characterize autonomic function in this population.

## Materials and Methods

This retrospective study was conducted in the pediatric cardiology outpatient clinic of Ankara Bilkent City Hospital as requested and included 78 pediatric patients diagnosed with MVP between January 2022 and September 2025. A total of 92 healthy children with normal echocardiographic findings and similar age distribution were included as the control group.

Inclusion criteria were adequate echocardiographic imaging, displacement of the anterior and/or posterior mitral valve leaflets more than 2 mm beyond the mitral annulus during systole, structurally normal hearts without congenital heart disease, and no use of antiarrhythmic medications. Patients with MVP secondary to conditions such as Marfan syndrome, rheumatic heart disease, Ehlers–Danlos syndrome were excluded from the study.

Twenty-four-hour Holter monitoring recordings were analyzed in all participants. The evaluated HRV parameters included time-domain indices such as SDNN, SDANN, SDANNi, rMSSD, pNN50, triangular index, minimum heart rate, maximum heart rate, and average heart rate, as well as frequency-domain parameters including total power, very low frequency (VLF), low frequency (LF), high frequency (HF), and LF/HF ratio. Maximum corrected QT interval (QTc) values were obtained from 24-hour Holter recordings using CardioScan 12 Holter analysis software (DM Software, USA). QTc values were automatically calculated using Bazett's correction formula, and the maximum QTc value recorded during the monitoring period was used for statistical analysis.

### Statistical analysis

All statistical analyses were performed using SPSS Statistics version 26.0 (IBM Corp., Armonk, NY, USA). Normality of distribution was assessed using the Shapiro–Wilk test. Continuous variables were expressed as median (interquartile range) and compared using the Mann–Whitney U test. Categorical variables were presented as frequency and percentages and subsequently subjected to comparison through the utilisation of the Pearson chi-square test. To account for multiple comparisons, p-values were adjusted using the Benjamini–Hochberg false discovery rate (FDR) method, which was preferred over more conservative methods because HRV parameters are physiologically interrelated. In addition, multivariable linear regression analyses adjusted for age and gender were performed for selected representative variables. A p-value <0.050 was considered statistically significant.

### Results

A total of 170 children were included in the study, consisting of 78 patients with MVP and 92 healthy controls. The median age was 9.5 years in the MVP group and 10.1 years in the control group, with no significant difference between the groups ( $p=0.536$ ). Female gender was present in 88.5% of the MVP group and 84.7% of the control group, with no significant difference between the groups ( $p=0.905$ ).

Comparisons of HRV parameters between the groups are presented in Table I. Patients with MVP demonstrated significantly lower SDANNi, rMSSD, total power, LF, HF, and triangular index values after FDR correction. In addition, maximum QTc values were significantly higher in the MVP group. No significant differences remained after FDR correction for SDNN, SDANN, pNN50, VLF, LF/HF ratio, minimum heart rate, maximum heart rate, or average heart rate.

Given the interrelated nature of HRV parameters, representative variables reflecting parasympathetic modulation and ventricular

**Table I: Comparison of HRV parameters between MVP and control groups**

|                   | MVP         | Control     | p      | p (FDR) |
|-------------------|-------------|-------------|--------|---------|
| Age*              | 9.5 (6.4)   | 10.1 (4.2)  | 0.536  | 0.573   |
| Female†           | 69 (88.5)   | 78 (84.7)   | 0.905  | -       |
| SDNN*             | 121 (53)    | 137 (45)    | 0.075  | 0.086   |
| SDANN             | 110 (47)    | 120 (45)    | 0.215  | 0.246   |
| SDANNi*           | 58 (26)     | 66 (18)     | 0.009  | 0.029   |
| rMSSD*            | 38 (14)     | 48 (19)     | 0.015  | 0.034   |
| pNN50*            | 15 (10)     | 18 (13)     | 0.044  | 0.078   |
| Total Power*      | 2964 (2902) | 4298 (2123) | 0.005  | 0.020   |
| VLF*              | 1735 (1646) | 2543 (1207) | 0.072  | 0.086   |
| LF*               | 711 (541)   | 974 (400)   | 0.005  | 0.020   |
| HF*               | 452 (318)   | 607 (444)   | 0.002  | 0.016   |
| LF/HF*            | 1.49 (0.94) | 1.65 (0.77) | 0.388  | 0.414   |
| Triangular index* | 31.8 (10.6) | 34.7 (11.9) | 0.011  | 0.029   |
| Max QTc*          | 469 (60)    | 415 (75)    | <0.001 | 0.008   |
| Min HR*           | 51 (8)      | 51 (7)      | 0.624  | 0.624   |
| Max HR*           | 154.5 (17)  | 161 (26)    | 0.229  | 0.262   |
| average HR*       | 86 (13)     | 84 (7)      | 0.037  | 0.074   |

\*: median (IQR) (Mann–Whitney U test), †: n(%) (Pearson chi-square test), **HRV**: heart rate variability, **MVP**: Mitral valve prolapse, **QTc**: corrected QT interval, **HR**: heart rate. **p (FDR)**: p-values were adjusted using the Benjamini–Hochberg false discovery rate (FDR) method.

repolarization were selected for multivariable regression analysis. MVP remained independently associated with lower HF and rMSSD values after adjustment for age and gender ( $p=0.001$  and  $p=0.012$ , respectively). Maximum QTc also remained significantly associated with MVP after adjustment ( $p=0.026$ ). In addition, age and gender were independent predictors of QTc (Table II).

### Discussion

In the present study, children with MVP demonstrated significant alterations in HRV parameters together with prolonged maximum QTc values compared with healthy controls. The main finding of our study is that pediatric MVP patients exhibit impaired autonomic modulation, particularly reduced parasympathetic (vagal) activity. Given the interrelated nature of HRV parameters, representative variables reflecting parasympathetic modulation and ventricular repolarization were selected for multivariable regression analysis. In this analysis, MVP remained independently associated with lower HF and rMSSD values as well as higher maximum QTc values after adjustment for age and gender.

Our analysis demonstrated that patients with MVP had significantly lower SDANNi, rMSSD, total power, LF, HF, and triangular index values compared with healthy controls. Among these, HF and rMSSD are considered reliable indicators of parasympathetic modulation and reflect short-term beat-to-beat variability (7,8). Interestingly, SDANNi was significantly reduced whereas SDANN remained unchanged. Since SDANNi reflects short-term fluctuations in autonomic modulation, this finding may suggest that autonomic impairment in MVP predominantly affects short-term HRV dynamics rather than longer-term variability (7,9). The independent association of HF and rMSSD, two established markers of parasympathetic modulation, with MVP in our

**Table II: Multivariable linear regression analyses adjusted for age and gender**

| Predictor       | B       | SE B   | $\beta$ | t      | p      | 95% CI for B   | R <sup>2</sup> |
|-----------------|---------|--------|---------|--------|--------|----------------|----------------|
| HF              |         |        |         |        |        |                |                |
| Gender          | 226.783 | 76.160 | 0.221   | 2.978  | 0.003  | 76.415-377.151 | 0.121          |
| Age             | 1.958   | 8.229  | 0.017   | 0.238  | 0.812  | -14.288-18.205 |                |
| MVP vs. control | 187.098 | 57.061 | 0.241   | 3.279  | 0.001  | 74.439-299.758 |                |
| rMSSD           |         |        |         |        |        |                |                |
| Gender          | 16.161  | 3.874  | 0.305   | 4.171  | <0.001 | 8.512-23.809   | 0.144          |
| Age             | -0.115  | 0.419  | -0.020  | -0.274 | 0.784  | -0.94-0.712    |                |
| MVP vs. control | 7.353   | 2.903  | 0.184   | 2.533  | 0.012  | 1.622-13.083   |                |
| Maximum QTc     |         |        |         |        |        |                |                |
| Gender          | -53.850 | 11.536 | -0.342  | -4.668 | <0.001 | -76.634-31.066 | 0.186          |
| Age             | -3.383  | 1.239  | -0.198  | -2.730 | 0.007  | -5.831-0.936   |                |
| MVP vs. control | -19.813 | 8.786  | -0.164  | -2.255 | 0.026  | -37.165-2.460  |                |

**HF:** high frequency, **MVP:** mitral valve prolapse, **rMSSD:** root mean square of successive differences, **QTc:** corrected QT interval, **B:** unstandardized regression coefficient, **SE:** standard error,  **$\beta$ :** standardized regression coefficient, **CI:** confidence interval, **R<sup>2</sup>:** coefficient of determination

regression analysis supports the presence of reduced vagal activity in these patients (10,11). These findings are consistent with the study by Han et al. (12), which reported significantly lower time-domain and frequency-domain HRV indices, including HF, LF, and rMSSD, in children with MVP.

Similarly, Ahmadi et al. (6) demonstrated a decline in several HRV parameters, including SDNN, SDANN, rMSSD, and pNN50, in children with MVP, suggesting autonomic dysfunction in these patients. In contrast, Beyazal et al. (13) did not find significant differences in overall time- and frequency-domain HRV parameters between MVP patients and controls, reporting only a lower minimum heart rate and a higher prevalence of low LF values in the MVP group. The relatively large sample size of our study, together with the use of FDR correction and multivariable regression analysis, strengthens the evidence supporting impaired parasympathetic modulation in pediatric MVP.

Previous studies evaluating ventricular repolarization in MVP have reported heterogeneous findings. While several studies demonstrated prolonged QTc intervals and increased QT dispersion in pediatric MVP patients, others failed to detect significant QTc prolongation compared with healthy controls (6,13-15). In our cohort, maximum QTc values were significantly higher in the MVP group and remained independently associated with MVP after adjustment for age and gender. The QT interval and its corrected value (QTc) reflect ventricular depolarization and repolarization, and QTc prolongation is a recognized marker associated with an increased risk of ventricular arrhythmias (16,17). Taken together, our findings suggest that autonomic dysregulation and ventricular repolarization abnormalities may coexist in children with MVP.

Our multivariable regression analysis identified age and gender as independent predictors of QTc. Physiological maturation and gender-related differences are known to influence autonomic tone, HRV parameters, and ventricular repolarization in children (18,19). Therefore, adjustment for these variables is important when evaluating autonomic function and repolarization abnormalities in pediatric MVP populations.

Interestingly, although some previous studies reported increased LF/HF ratios in MVP patients, suggesting altered

sympathovagal balance, other studies failed to demonstrate significant differences in HRV parameters between MVP patients and controls (12,20,21). In our cohort, LF/HF ratio was not significantly different after FDR correction. Similarly, SDNN, SDANN, and pNN50 values were not significantly different between groups. These findings may suggest that autonomic alterations in our pediatric MVP cohort are more closely related to reduced parasympathetic modulation rather than sympathetic predominance.

### Limitations

Our study has several limitations. First, the retrospective design limits the ability to establish causal relationships between the observed autonomic and repolarization abnormalities and future clinical outcomes. In addition, long-term prospective follow-up studies are needed to determine whether reduced HRV parameters and prolonged QTc values in pediatric MVP patients are associated with clinically significant arrhythmic events or syncope later in life.

### Conclusion

In conclusion, children with MVP demonstrated altered parasympathetic modulation and prolonged ventricular repolarization independently of age and gender. These findings suggest that pediatric MVP may be associated with autonomic and electrophysiological alterations, highlighting the potential importance of cardiac autonomic assessment and electrocardiographic evaluation in this population. Although these findings do not warrant changes in current clinical management, they may provide additional information in the clinical evaluation of children with MVP. Whether these abnormalities predict future arrhythmic events and should influence follow-up strategies remains to be determined.

### Ethics committee approval

This study was conducted in accordance with the Helsinki Declaration Principles. The study was approved by Ankara Bilkent City Hospital (01.10.2025, reference number: TABED 2-25-1546).

### Contribution of the authors

UP: conceived and designed the study, collected the data, and drafted the initial manuscript, İİÇ: critically reviewed the manuscript for important intellectual content. All authors read and approved the final version of the manuscript.

**Source of funding**

The authors declare the study received no funding.

**Conflict of interest**

The authors declare that there is no conflict of interest.

**References**

- Boudoulas H, Kolibash Jr AJ, Baker P, King BD, Wooley CF. Mitral valve prolapse and the mitral valve prolapse syndrome: a diagnostic classification and pathogenesis of symptoms. *American heart journal*. 1989;118:796-818. [https://doi.org/10.1016/0002-8703\(89\)90594-2](https://doi.org/10.1016/0002-8703(89)90594-2)
- Freed LA, Levy D, Levine RA, Larson MG, Evans JC, Fuller DL, et al. Prevalence and clinical outcome of mitral-valve prolapse. *New England Journal of Medicine*. 1999;341:1-7. <https://doi.org/10.1056/NEJM199907013410101>
- Franchitto N, Bounes V, Telmon N, Rougé D. Mitral valve prolapse and out-of-hospital sudden death: a case report and literature review. *Medicine, Science and the Law*. 2010;50:164-7. <https://doi.org/10.1258/msl.2010.1000>
- Narayanan K, Uy-Evanado A, Teodorescu C, Reinier K, Nichols GA, Gunson K, et al. Mitral valve prolapse and sudden cardiac arrest in the community. *Heart Rhythm*. 2016;13:498-503.
- Bindal A, Deveci M. Evaluation Of Cardiac Autonomic Dysfunction And The Risk Of Arrhythmia In Children With Mitral Valve Prolapse. *Acta Medica Nicomedia*. 2023;6:290-6. <https://doi.org/10.53446/actamednicomedia.1292677>
- Ahmadi M, Ghahremani B, Habibi D, Sadrnia S, Ghandi Y. Effects of mitral valve prolapse on heart rate variability and the autonomic nervous system in children. *The Journal of Tehran University Heart Center*. 2022;17:140. <https://doi.org/10.18502/jthc.v17i3.10847>
- Heart rate variability: standards of measurement, physiological interpretation and clinical use. Task Force of the European Society of Cardiology and the North American Society of Pacing and Electrophysiology. *Circulation*. 1996;93:1043-65. <https://doi.org/10.1161/01.CIR.93.5.104>
- Shaffer F, Ginsberg JP. An Overview of Heart Rate Variability Metrics and Norms. *Front Public Health*. 2017;5:258. <https://doi.org/10.3389/fpubh.2017.00258>
- Amekran Y, Damoun N, El Hangouche AJ. A focus on the assessment of the autonomic function using heart rate variability. *Global Cardiology Science & Practice*. 2025;2025:e202512.
- Shaffer F, McCraty R, Zerr CL. A healthy heart is not a metronome: an integrative review of the heart's anatomy and heart rate variability. *Frontiers in psychology*. 2014;5:1040. <https://doi.org/10.3389/fpsyg.2014.01040>
- Chang C-J, Chen Y-C, Lee C-H, Yang F, Yang T-F. Posture and gender differentially affect heart rate variability of symptomatic mitral valve prolapse and normal adults. *Acta Cardiologica Sinica*. 2016;32:467.
- Han L, Ho TF, Yip WC, Chan KY. Heart rate variability of children with mitral valve prolapse. *Journal of electrocardiology*. 2000;33:219-24. <https://doi.org/10.1054/jelc.2000.7661>
- Beyazal M, Ozgur S, Sayici IU, Celebi SK. Assessment of Heart Rate Variability in Children with Mitral Valve Prolapse. *Pediatric Cardiology*. 2025;46:648-57. <https://doi.org/10.1007/s00246-024-03481-1>
- İmamoğlu EY, Eroğlu AG. QT dispersion and ventricular arrhythmias in children with primary mitral valve prolapse. *Turkish Archives of Pediatrics/Türk Pediatri Arşivi*. 2016;51:135. <https://doi.org/10.5152/TurkPediatriArs.2016.4094>
- Güven B, Eroğlu AG, Babaoglu K, Demir T, Güzeltaş A, Öztunc F, et al. QT dispersion and diastolic functions in differential diagnosis of primary mitral valve prolapse and rheumatic mitral valve prolapse. *Pediatric cardiology*. 2008;29:352-8. <https://doi.org/10.1007/s00246-007-9095-x>
- Goldenberg I, Moss AJ, Zareba W. QT interval: how to measure it and what is "normal". *Journal of cardiovascular electrophysiology*. 2006;17. <https://doi.org/10.1111/j.1540-8167.2006.00408.x>
- Robison LB, Brady WJ, Robison RA, Charlton N. QT interval prolongation and the risk of malignant ventricular dysrhythmia and/or cardiac arrest: Systematic search and narrative review of risk related to the magnitude of QT interval length. *The American Journal of Emergency Medicine*. 2021;49:40-7.
- Harteveld LM, Nederend I, Ten Harkel AD, Schutte NM, De Rooij SR, Vrijkotte TG, et al. Maturation of the cardiac autonomic nervous system activity in children and adolescents. *Journal of the American Heart Association*. 2021;10:e017405. <https://doi.org/10.1161/JAHA.120.017405>
- Koenig J, Rash JA, Campbell TS, Thayer JF, Kaess M. A meta-analysis on gender differences in resting-state vagal activity in children and adolescents. *Front. Physiol*. 2017;8:582.
- Huang J-K, Huang S-Y, Lee C-h, Yang I-F, Yang T-F, Wang Y-M. Effect of age on heart rate variability in patients with mitral valve prolapse: an observational study. *Journal of Clinical Medicine*. 2022;12:165. <https://doi.org/10.3390/jcm12010165>
- Kochiadakis GE, Parthenakis FI, Zuridakis EG, Rombola AT, Chrysostomakis SI, Vardas PE. Is there increased sympathetic activity in patients with mitral valve prolapse? Pacing and clinical electrophysiology. 1996;19:1872-6. <https://doi.org/10.1111/j.1540-8159.1996.tb03243.x>